





---------- TROIS QUESTIONS --c-cmunu-

----- question #1 -----
SN0t = FE =l
=> (x - 7)2 =0

(x - 7)(x -7) =0

----- question #2 -----
3r(x - 7)2 =3
=> (x - 7)2 =1

X2 - 14x + 49 = 1



X2 - 14x + 48 = ©

A= (-14)2 - 4.1-48 = 4

VA = V4 =

X
=
I

p

(-(-14) + 2)/2-1

(-(-14) - 2)/2-1

----- question #3 -----

X 2 =

| x =8 |

| x =6 |
3M(x - 2)2

37(x2 - 4x + 4) =5

NG oAb e el s

37M(x2%2 - 4x) * 81 =5

37(x2%2 - 4x) = 5/81

log(3~(x2%2 - 4x)) = log(5/81)
(x2 - 4x)-log(3) = log(5/81)
(x2 - 4x) = log(5/81)/1og(3)
(x2 - 4x) = log(5/81)/1log(3)
(x2 - 4x) = -2,53502

X2 - 4x + 2,53502 = @

A= (-4)?

4.1-2,53502

5,85992



x 1= (-(-4) + V5,85992)/2-1
x 2 = (-(-4) - V5,85992)/2-1
| x = 3,21 |

3,21036

9,78963




